

## Beta type integral operator involving generalized Bessel-Maitland Function

Musharraf Ali<sup>1</sup>, Waseem A. Khan<sup>2,\*</sup> and Idrees A. Khan<sup>3</sup>

<sup>1</sup>Department of Mathematics, G.F. College, Shahjahanpur-242001, India

<sup>2</sup>Department of Mathematics and Natural Sciences,  
Prince Mohammad Bin Fahd University,

P.O Box 1664, Al Khobar 31952, Kingdom of Saudi Arabia

<sup>3</sup>Department of Mathematics, Faculty of Science, Integral University,  
Lucknow-226026, India

Received: 05.11.2019

Accepted: 14.12.2019

Published Online: 31.12.2019

**Abstract:** The main object of the present paper is to establish integral involving generalized Bessel-Maitland functions  $J_{\alpha, \beta, \nu, \sigma, \delta, p}^{\mu, \rho, \gamma, q}(z)$  defined by Khan et al. [6], which are expressed in the terms of generalized (Wright) hypergeometric functions. Some interesting special cases involving generalized Mittag-Leffler functions are deduced.

**Keywords:** Generalized Bessel-Maitland function, Generalized (Wright) hypergeometric function and integrals, Mittag-Leffler function.

**2010 Mathematics Subject Classification.** 26A33, 33C45, 33E12.

### 1. Introduction

The special function of the form defined by the series representation

$$J_{\nu}^{\mu}(z) = \sum_{n=0}^{\infty} \frac{(-z)^n}{n! \Gamma(\mu n + \nu + 1)} = \phi(\mu, \nu + 1; -z), \quad (1.1)$$

is known as Bessel-Maitland function, or the Wright generalized function (see [10; Eq.(8.3)]). It has a wide application in the problem of physics, chemistry, biology, engineering and applied sciences. The theory of Bessel functions is intimately connected with the theory of certain types of differential equations. A detailed account of applications of Bessel functions are given in the book of Watson [17].

The generalized hypergeometric function represented as follows (see [20]):

$${}_pF_q \left[ \begin{matrix} (\alpha_p); \\ (\beta_q); \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (\alpha_j)_n z^n}{\prod_{j=1}^q (\beta_j)_n n!}, \quad (1.2)$$

provided  $p \leq q$ ;  $p = q + 1$  and  $|z| < 1$  and  $(\alpha)_n$  is well known Pochhammer symbol.

The Fox-Wright generalization  ${}_p\Psi_q(z)$  of hypergeometric  ${}_pF_q$  function is given by (cf [13, 19, 20]):

\*Correspondence: wkhan1@pmu.edu.sa; waseem08\_khan@rediffmail.com

$${}_p\Psi_q \left[ \begin{matrix} (\alpha_1, A_1), \dots, (\alpha_p, A_p); \\ (\beta_1, B_1), \dots, (\beta_q, B_q); \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{\Gamma(\alpha_1 + A_1 n) \dots \Gamma(\alpha_p + A_p n) z^n}{\Gamma(\beta_1 + B_1 n) \dots \Gamma(\beta_q + B_q n) n!}, \tag{1.3}$$

where  $A_j > 0$  ( $j = 1, 2, \dots, p$ );  $B_j > 0$  ( $j = 1, 2, \dots, q$ ) and  $1 + \sum_{j=1}^q B_j - \sum_{j=1}^p A_j \geq 0$ .

In recent years, several extension of some well-known special functions have been introduced by many authors, (see [1-6]).

Singh et al. [16] introduced the following generalization of Bessel-Maitland function:

$$J_{\nu, q}^{\mu, \gamma}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} (-z)^n}{n! \Gamma(\mu n + \nu + 1)}, \tag{1.4}$$

where  $\mu, \nu, \gamma \in \mathbb{C}$ ,  $Re(\mu) \geq 0$ ,  $Re(\nu) \geq -1$ ,  $Re(\gamma) \geq 0$  and  $q \in (0, 1) \cup \mathbb{N}$  and  $(\gamma)_0 = 1$ ,  $(\gamma)_{qn} = \frac{\Gamma(\gamma + qn)}{\Gamma(\gamma)}$  denotes the generalized Pochhammer symbol (see Rainville, [12]).

Recently, Ghayasuddin and Khan [1] introduced and investigated generalized Bessel-Maitland function defined as

$$J_{\nu, \gamma, \delta}^{\mu, \rho, q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn} (-z)^n}{\Gamma(\mu n + \nu + 1) (\delta)_{pn}}, \tag{1.5}$$

where  $\mu, \nu, \gamma, \delta \in \mathbb{C}$ ,  $\Re(\mu) \geq 0, \Re(\nu) \geq -1, \Re(\gamma) \geq 0, \Re(\delta) \geq 0$ ;  $p, q > 0$  and  $q < \Re(\alpha) + p$ .

In particular Khan *et al.* [6] introduced and investigated a new extension of Bessel-Maitland function as follows:

$$J_{\alpha, \beta, \sigma, \nu, \delta, p}^{\mu, \rho, \gamma, q}(z) = \sum_{n=0}^{\infty} \frac{(\mu)_{pn} (\gamma)_{qn} (-z)^n}{\Gamma(n\beta + \alpha + 1) (\delta)_{pn} (\nu)_{n\sigma}}, \tag{1.6}$$

where  $\alpha, \beta, \mu, \rho, \nu, \gamma, \sigma, \delta \in \mathbb{C}$ ;  $\Re(\alpha) > 0, \Re(\beta) > 0, \Re(\rho) > 0, \Re(\mu) > 0, \Re(\nu) > 0, \Re(\alpha) \geq -1, \Re(\gamma) > 0, \Re(\delta) > 0, \Re(\sigma) > 0$ ;  $p, q > 0$ , and  $q < \Re(\alpha) + p$ .

**2. Relation with Mittag-Leffler functions:**

(i) On replacing  $\alpha$  by  $\alpha - 1$  in (1.6), we get the following interesting relation:

$$J_{\alpha-1, \beta, \sigma, \nu, \delta, p}^{\mu, \rho, \gamma, q}(-z) = E_{\alpha, \beta, \sigma, \nu, \delta, p}^{\mu, \rho, \gamma, q}(z), \tag{1.7}$$

where  $E_{\alpha, \beta, \sigma, \nu, \delta, p}^{\mu, \rho, \gamma, q}(z)$  is the Mittag-Leffler function defined by Khan and Ahmed [7].

(ii) On setting  $\mu = \nu = \sigma = \rho = 1$  and replacing  $\alpha$  by  $\alpha - 1$  in (1.6), we get

$$J_{\alpha-1, \beta, 1, 1, \delta, p}^{1, 1, \gamma, q}(-z) = E_{\alpha, \beta, p}^{\delta, \gamma, q}(z) \tag{1.8}$$

where  $E_{\alpha, \beta, p}^{\delta, \gamma, q}(z)$  is the Mittag-Leffler function defined by Salim and Faraz [14].

(iii) On setting  $\mu = \nu = \sigma = \rho = \delta = p = 1$  and replacing  $\alpha$  by  $\alpha - 1$  in (1.6), we get

$$J_{\alpha-1, \beta, 1, 1, 1, 1}^{1, 1, \gamma, q}(-z) = E_{\alpha, \beta}^{\gamma, q}(z) \tag{1.9}$$

where  $E_{\alpha, \beta}^{\gamma, q}(z)$  is the Mittag-Leffler function defined by Shukla and Prajapati [15].

(iv) On setting  $\mu = \nu = \sigma = \rho = \delta = p = q = 1$  and replacing  $\alpha$  by  $\alpha - 1$  in (1.6), we get

$$J_{\alpha-1, \beta, 1, 1, 1, 1}^{1, 1, \gamma, 1}(-z) = E_{\alpha, \beta}^{\gamma}(z) \tag{1.10}$$

where  $E_{\alpha, \beta}^{\gamma}(z)$  is the Mittag-Leffler function defined by Prabhakar [11].

(v) On setting  $\mu = \nu = \sigma = \rho = \delta = \gamma = p = q = 1$  and replacing  $\alpha$  by  $\alpha - 1$  in (1.6),

we get

$$J_{\alpha-1,\beta,1,1,1,1}^{1,1,1,1}(-z) = E_{\alpha,\beta}(z) \tag{1.11}$$

where  $E_{\alpha,\beta}(z)$  is the Mittag-Leffler function defined by Wiman [18].

(vi) On setting  $\mu = \nu = \sigma = \rho = \delta = \gamma = p = q = 1, \alpha = 0$  and replacing  $\alpha$  by  $\alpha - 1$  in (1.6), we get

$$J_{0,\beta,1,1,1,1}^{1,1,1,1}(-z) = E_{\beta}(z) \tag{1.12}$$

where  $E_{\beta}(z)$  is the Mittag-Leffler function defined by GhostaMittag-Leffler [9].

For our present investigation, the following interesting and useful result due to MacRobert [8] will be required:

$$\int_0^1 x^{\alpha-1}(1-x)^{\beta-1}[ax + b(1-x)]^{-\alpha-\beta} dx = \frac{\Gamma \alpha \Gamma \beta}{a^{\alpha} b^{\beta} \Gamma(\alpha + \beta)}, \tag{1.13}$$

provided  $\Re(\alpha) > 0$  and  $\Re(\beta) > 0$ .

### 3. Beta type integral operator involving generalized Bessel-Maitland function

**Theorem 2.1.** If  $\alpha, \beta, \gamma, \mu, \eta, \nu, \sigma, \rho, \delta, \lambda \in \mathbb{C}, \sigma + \eta + p - \rho - q > 0, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\mu) > 0, \Re(\lambda) \geq -1, \Re(\nu) > 0, \Re(\delta) > 0, \Re(\sigma) > 0, \Re(\rho) > 0, \Re(\eta) > 0, p, q > 0$  and  $q < \Re(\alpha) + p$ , then

$$\begin{aligned} \int_0^1 x^{\alpha-1}(1-x)^{\beta-1}[ax + b(1-x)]^{-\alpha-\beta} J_{\eta,\lambda,\sigma,\nu,\delta,p}^{\mu,\rho,\gamma,q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \\ = \frac{\Gamma \nu \Gamma \delta}{a^{\alpha} b^{\beta} \Gamma \mu \Gamma \gamma} {}_5\psi_4 \left[ \begin{matrix} (\mu, \rho), (\gamma, q), (\alpha, 1), (\beta, 1), (1, 1); \\ (\nu, \sigma), (\delta, p), (\lambda + 1, \eta), (\alpha + \beta, 2); \end{matrix} \right] - 2. \end{aligned} \tag{2.1}$$

**Proof.** To establish our main result(2.1), we denote the left-hand side of (2.1) by  $I$  and then using (1.6), we have

$$I = \int_0^1 x^{\alpha-1}(1-x)^{\beta-1}[ax + b(1-x)]^{-\alpha-\beta} J_{\eta,\lambda,\sigma,\nu,\delta,p}^{\mu,\rho,\gamma,q} (z) \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx. \tag{2.2}$$

Now changing the order of integration and summation, which is seen to be justified due to the uniform convergence of the series in the interval (0,1), we arrive

$$I = \frac{\Gamma \nu \Gamma \delta}{a^{\alpha} b^{\beta} \Gamma \mu \Gamma \gamma} \sum_{m=0}^{\infty} \frac{\Gamma(\mu + \rho m) \Gamma(\gamma + qn) \Gamma(\alpha + m) \Gamma(\beta + m) \Gamma(m, 1)}{\Gamma(\nu + \sigma m) \Gamma(\delta + pm) \Gamma(\lambda + 1, \eta m) \Gamma(\alpha + \beta + 2m)} \frac{-2^m}{m!}. \tag{2.3}$$

Finally, summing up the above series with the help of (1.3), we easily arrive at the right-hand side of (2.1). This completes the proof of our main result. Next, we consider other variation of (2.1). In fact, we establish an integral formula for the Bessel-Maitland function which is expressed in terms of the generalized hypergeometric function  ${}_pF_q$ .

**Variation of (2.1):** Let the conditions of our main result be satisfied, then the following integral formula holds true:

$$\begin{aligned} \int_0^1 x^{\alpha-1}(1-x)^{\beta-1}[ax + b(1-x)]^{-\alpha-\beta} J_{\eta,\lambda,\sigma,\nu,\delta,p}^{\mu,\rho,\gamma,q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma \alpha \Gamma \beta}{a^{\alpha} b^{\beta} \Gamma(\lambda + 1) \Gamma(\alpha + \beta)} \\ \times {}_{\rho+q+3}F_{\sigma+\eta+p+2} \left[ \begin{matrix} \Delta(\rho; \mu), \Delta(q; \gamma), \alpha, \beta, 1; \\ \Delta(\sigma, \nu), \Delta(p; \delta), \Delta(\eta; \lambda + 1), \Delta(2, \alpha + \beta); \end{matrix} \frac{-\rho^{\rho} q^q}{2\sigma^{\sigma} p^p \eta^{\eta}} \right]. \end{aligned} \tag{2.4}$$

**Proof:** In order to prove the result (2.4), using the results

$$\Gamma(\alpha + n) = \Gamma(\alpha)(\alpha)_n \quad \text{and} \quad (l)_{kn} = k^{kn} \left(\frac{l}{k}\right)_n \left(\frac{l+1}{k}\right)_n \dots \left(\frac{l+k-1}{k}\right)_n,$$

(Gauss multiplication theorem) in (2.3) and summing up the given series with the help of (1.2), we easily arrive at our required result (2.4).

#### 4. Special Cases

(i). On replacing  $\lambda$  by  $\lambda - 1$  in (2.1) and then by using (1.7), we get:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda, \sigma, \nu, \delta, p}^{\mu, \rho, \gamma, q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma \nu \Gamma \delta}{a^\alpha b^\beta \Gamma \mu \Gamma \gamma} {}_5\psi_4 \left[ \begin{matrix} (\mu, \rho), (\gamma, q), (\alpha, 1), (\beta, 1), (1, 1); \\ (\nu, \sigma), (\delta, p), (\lambda + 1, \eta), (\alpha + \beta, 2); \end{matrix} \right] 2. \quad (3.1)$$

where  $\alpha, \beta, \gamma, \mu, \eta, \nu, \sigma, \rho, \delta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\mu) > 0, \Re(\nu) > 0, \Re(\lambda) > 0, \Re(\delta) > 0, \Re(\sigma) > 0, \Re(\rho) > 0, \Re(\eta) > 0, p, q > 0$  and  $q < \Re(\alpha) + p$ .

(ii). On replacing  $\lambda$  by  $\lambda - 1$  in (2.4) and then by using (1.7), we find:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda, \sigma, \nu, \delta, p}^{\mu, \rho, \gamma, q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma \alpha \Gamma \beta}{a^\alpha b^\beta \Gamma \lambda \Gamma(\alpha + \beta)} \times_{\rho+q+3} F_{\sigma+\eta+p+2} \left[ \begin{matrix} \Delta(\rho; \mu), \Delta(q; \gamma), \alpha, \beta, 1; \\ \Delta(\sigma, \nu), \Delta(p; \delta), \Delta(\eta; \lambda + 1), \Delta(2, \alpha + \beta); \end{matrix} \right] \frac{\rho^\rho q^q}{2\sigma^\sigma p^p \eta^\eta}. \quad (3.2)$$

where  $\alpha, \beta, \gamma, \mu, \eta, \nu, \sigma, \rho, \delta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\mu) > 0, \Re(\nu) > 0, \Re(\lambda) > 0, \Re(\delta) > 0, \Re(\sigma) > 0, \Re(\rho) > 0, \Re(\eta) > 0, p, q > 0$  and  $q < \Re(\alpha) + p$ .

(iii). On setting  $\mu = \nu = \rho = \sigma = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.1) and then by using (1.8), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda, p}^{\gamma, \delta, q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma \delta}{a^\alpha b^\beta \Gamma \gamma} {}_4\psi_3 \left[ \begin{matrix} (\gamma, q), (\alpha, 1), (\beta, 1), (1, 1); \\ (\delta, p), (\lambda, \eta), (\alpha + \beta, 2); \end{matrix} \right] 2. \quad (3.3)$$

where  $\alpha, \beta, \gamma, \eta, \delta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\lambda) > 0, \Re(\delta) > 0, \Re(\eta) > 0, p, q > 0$  and  $q < \Re(\alpha) + p$ .

(iv). On setting  $\mu = \nu = \rho = \sigma = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.4) and then by using (1.8), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda, p}^{\gamma, \delta, q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma \alpha \Gamma \beta}{a^\alpha b^\beta \Gamma \lambda \Gamma(\alpha + \beta)} \times_{q+3} F_{\eta+p+2} \left[ \begin{matrix} \Delta(q; \gamma), \alpha, \beta, 1; \\ \Delta(p; \delta), \Delta(\eta; \lambda), \Delta(2, \alpha + \beta); \end{matrix} \right] \frac{q^q}{2p^p \eta^\eta}. \quad (3.4)$$

where  $\alpha, \beta, \gamma, \eta, \delta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\lambda) > 0, \Re(\delta) > 0, \Re(\eta) > 0, p, q > 0$  and  $q < \Re(\alpha) + p$ .

(v) On setting  $\mu = \nu = \rho = \sigma = p = \delta = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.1) and then by using (1.9), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda}^{\gamma, q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx =$$

$$= \frac{1}{a^\alpha b^\beta \Gamma_\gamma} {}_4\psi_2 \left[ \begin{matrix} (\gamma, q), (\alpha, 1), (\beta, 1), (1, 1); \\ (\lambda, \eta), (\alpha + \beta, 2); \end{matrix} \middle| 2 \right]. \quad (3.5)$$

where  $\alpha, \beta, \gamma, \eta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\lambda) > 0, \Re(\eta) > 0, q \in (0, 1) \cup \mathbb{N}$ .

(vi) On setting  $\mu = v = \rho = \sigma = p = \delta = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.4) and then by using (1.9), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda}^{\gamma, q} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma_\alpha \Gamma_\beta}{a^\alpha b^\beta \Gamma_\lambda \Gamma(\alpha + \beta)} \times_{q+3} F_{\eta+2} \left[ \begin{matrix} \Delta(q; \gamma), \alpha, \beta, 1; \\ \Delta(\eta; \lambda), \Delta(2, \alpha + \beta); \end{matrix} \middle| \frac{q^q}{2\eta^\eta} \right] \quad (3.6)$$

where  $\alpha, \beta, \gamma, \eta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\lambda) > 0, \Re(\eta) > 0, q \in (0, 1) \cup \mathbb{N}$ .

(vii) On setting  $\mu = v = \rho = \sigma = p = q = \delta = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.1) and then by using (1.10), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda}^\gamma \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{1}{a^\alpha b^\beta \Gamma_\gamma} {}_4\psi_2 \left[ \begin{matrix} (\gamma, 1), (\alpha, 1), (\beta, 1), (1, 1); \\ (\lambda, \eta), (\alpha + \beta, 2); \end{matrix} \middle| 2 \right]. \quad (3.7)$$

where  $\alpha, \beta, \gamma, \eta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\lambda) > 0, \Re(\eta) > 0$ .

(viii) On setting  $\mu = v = \rho = \sigma = p = \delta = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.4) and then by using (1.10), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\lambda, \delta}^\gamma \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma_\alpha \Gamma_\beta}{a^\alpha b^\beta \Gamma_\lambda \Gamma(\alpha + \beta)} \times_4 F_{\eta+2} \left[ \begin{matrix} \gamma, \alpha, \beta, 1; \\ \Delta(\eta; \lambda), \Delta(2, \alpha + \beta); \end{matrix} \middle| \frac{1}{2\eta^\eta} \right]. \quad (3.8)$$

where  $\alpha, \beta, \gamma, \eta, \lambda \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\lambda) > 0, \Re(\eta) > 0$ .

(ix) On setting  $\mu = v = \rho = \sigma = p = q = \delta = \gamma = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.1) and then by using (1.11), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{1}{a^\alpha b^\beta} {}_3\psi_2 \left[ \begin{matrix} (\alpha, 1), (\beta, 1), (1, 1); \\ (\lambda, \eta), (\alpha + \beta, 2); \end{matrix} \middle| 2 \right]. \quad (3.9)$$

where  $\alpha, \beta, \eta, \lambda \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\lambda) > 0, \Re(\eta) > 0$ .

(x) On setting  $\mu = v = \rho = \sigma = p = q = \delta = \gamma = 1$  and replacing  $\lambda$  by  $\lambda - 1$  in (2.4) and then by using (1.11), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_{\eta, \lambda} \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma_\alpha \Gamma_\beta}{a^\alpha b^\beta \Gamma_\lambda \Gamma(\alpha + \beta)} \times_3 F_{\eta+2} \left[ \begin{matrix} \alpha, \beta, 1; \\ \Delta(\eta; \lambda), \Delta(2, \alpha + \beta); \end{matrix} \middle| \frac{1}{2\eta^\eta} \right] \quad (3.10)$$

where  $\alpha, \beta, \eta, \lambda \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\lambda) > 0, \Re(\eta) > 0$ .

(xi) On setting  $\mu = v = \rho = \sigma = p = q = \delta = \gamma = 1$  and  $\lambda = 0$  in (2.1) and then by using (1.12), we get

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_\eta \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx =$$

$$= \frac{1}{a^\alpha b^\beta} {}_3\psi_2 \left[ \begin{matrix} (\alpha, 1), (\beta, 1), (1, 1); \\ \eta, (\alpha + \beta, 2); \end{matrix} 2 \right]. \quad (3.11)$$

where  $a, \beta, \eta \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\eta) > 0$ .

(xii). On setting  $\mu = \nu = \rho = \sigma = p = q = \delta = \gamma = 1$  and  $\lambda = 0$  in (2.4) and then by using (1.12), we attain:

$$\int_0^1 x^{\alpha-1} (1-x)^{\beta-1} [ax + b(1-x)]^{-\alpha-\beta} E_\eta \left[ \frac{2abx(1-x)}{[ax + b(1-x)]^2} \right] dx = \frac{\Gamma(\alpha) \Gamma(\beta)}{a^\alpha b^\beta \Gamma(\alpha + \beta)} \times {}_3F_{\eta+2} \left[ \begin{matrix} \alpha, \beta, 1; \\ \Delta(\eta, \lambda), \Delta(2, \alpha + \beta); \end{matrix} \frac{1}{2\eta^\eta} \right]. \quad (3.12)$$

where  $a, \beta, \eta \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\eta) > 0$ .

## References

- [1] Ghayasuddin, M., Khan, W. A. (2018). A new extension of Bessel Maitland function and its properties, *Matematicki Vesnik*, 70(4), 292-302.
- [2] Fox, C. (1961). The G and H-functions and symmetrical Fourier kernels, *Trans. Amer. Math. Soc.*, 98(1961), 395-429.
- [3] Khan, W. A., Nisar, KS. (2018). Unified integral operator involving generalized Bessel-Maitland function, *Proc. Jangjeon Math. Soc.* 21, 339 - 346.
- [4] Khan, W. A., Nisar, KS. (2018). Beta type integral formula associated with Wright generalized Bessel function, *Acta Math. Univ. Comenianae* 1, 117-125.
- [5] Khan, W. A., Nisar, KS., Choi, J. (2017). An integral formula of the Mellin transform type involving the extended Wright Bessel function, *Far East J. Math.*, 102, 2903-2912.
- [6] Khan, W. A., Ahmad, M. On certain integral transforms involving generalized Bessel-Maitland function, Submitted.
- [7] Khan, M. A., Ahmed, S. (2013). On some properties of the generalized Mittag-Leffler function, *Springer Plus*, 2:337.
- [8] MacRobert, T. M. (1961). Beta functions formulae and integrals involving E-function, *Math. Annalen*, 142, 450-452.
- [9] Mittag-Leffler, G. M. (1903). Sur la nouvelle fonction  $E_\lambda(x)$ , *C. R. Acad. Sci. Paris*, 137, 554-558.
- [10] Marichev, O. I. (1983). *Handbook of integral transform and Higher transcendental functions. Theory and algorithm tables*, Ellis Horwood, Chichester [John Wiley and Sons], New York.
- [11] Prabhakar, T. R. (1971). A singular integral equation with a generalized Mittag-Leffler function in the kernel, *Yokohama Math. J.*, 19, 715.
- [12] Rainville, E. D. (1960). *Special functions*, Macmillan, New York
- [13] Samko, S. G., Kilbas, A. A., Marichev, O.I. (1993). *Fractional Integrals and derivatives. Theory and Applications*, Gordon and Breach, Yverdon et al.
- [14] Salim, T. O., Faraj, W. (2012). A generalization of Mittag-Leffler function and integral operator associated with fractional calculus, *J. Frac. Calc. Appl.*, 3(5), 1-13.
- [15] Shukla, A. K., Prajapati, J.C. (2007). On a generalization of Mittag-Leffler function and its properties, *J. Math. Anal. Appl.*, 336, 797-811.

- [16] Singh, M, Khan, M. A, Khan, A. H. (2014). On some properties of a generalization of Bessel-Maitland function, *Int. J. Math. Trends and Tech.*, 14(1),46-54.
- [17] Watson, G. N. (1962). *A treatise on the theory of Bessel functions*, Cambridge University Press.
- [18] Wiman, A. (1905). Uber den fundamental Satz in der Theorie der Funktionen  $E_-(x)$ , *Acta Math.*, 29, 191-201.
- [19] Wright, E. M. (1933). On the coefficients of power series having exponential singularities., *Proc. London Math. Soc.*, 8, 71-79.
- [20] Wright, E. M. (1935). The asymptotic expansion of the generalized hypergeometric function, *J. London Math. Soc.*, 10, 286-29